RGUCET 2022

MA in Social Work

1 | Botany: Plants:: Entomology...........
a)Snakes b)Insects c)Birds d)Germs b | Insects
2 | Arrange the following words according to dictionary arrangement:
1. Epitaxy, 2. Episode, 3. Epigene, 4. Epitome, 5. Epilogue
a,2,3,4,5 b)3, 2, 5,4, 1 c)5,4,2,1,3 d)3,5,2,1,4 d 35214
3 | The word similar to adjustment is:
a) amelioration | b) adaptation ¢) accommodation d) adoption b adaptation
4 | What is the antonym of relinquish
a) Abdicate b) Renounce c) Posses d) Deny c | Posses
5 | Sentence Completion: He has ............. People visiting him at his house because he fears it will cause
discomfort to neighbours.
a) Curtail b) Requested c) Stopped d) Warned c | Stopped
6 | Most children ........... Ice-cream.
a) likes a) were liking c) like d) are like a | like
7 | Float: Sink:: Boat: ?
a) Ship b) War c) Submarine d) Missile ¢ | Submarine
8 | Techiand Tepu............... going for trip.
a)is b) was c) are d) had c |are
9 |llike.....oeee. ..mango as well as pineapple.
a) Eat b) Eating c) Ate d) Eats b | Eating
10 | Which of the following is correctly spelt?
a) b) Spontaneous | ¢) Spontenous a) Spontanious b | Spontaneous
Spontaneaous Qntion Place d
11 | Volcanic eruption do not occur in the:
a)Balicsea | b) Black sea | ¢) Caribbean sea | d) Caspian sea | a | Balicsea
12 | Indus river originates in:
a) Kinnaur | b) Ladakh | ¢) Nepal | d) Tibet | d | Tibet
13 | Garampani sanctuary is located at:
a) Gangtok, b) Kohima, c) Diphu, Assam d) Junagarh, Gujarat ¢ | Diphu,
Sikkim Nagaland Assam
14 | The United Nations Organization has its Headquarters at:




a) Bali b) Hague c) New York, USA | d) Washington DC ¢ | New York,

USA
15 | The biggest part of the brain is:
a) Spinal cord | b) Cerebellum ‘ c) Cerebrum ‘ d) Brain Stem ‘ c | Cerebrum
16 | Which State has the highest percentage of Scheduled Tribes in Total Population?
a) Jharkhand | b) Nagaland | ¢) Mizoram | d) Arunachal Pradesh | c ‘ Mizoram
17 | The North East Council (NEC) was formed in:
a) 1981 | b) 1971 | c) 1991 | d) 1989 | b | 1971
18 | NASA’s most famous space telescope goes by the name?
a) Muble b) Hubble Space | ¢) Humble Space d) Galaxy Satellite b | Hubble
Satellite Telescope Telescope Telescope Space
Telescope Telescope
19 | A change of the DNA of an organism resulting in a new trait is known as a .
a) Mitosis | b) Meiosis | c) Mutation | d) Morphosis | ¢ | Mutation
20 | The Vivekananda rock Memorial is located in
a) . Ladakh b) Andaman c) . Chennai d) Kanyakumari d | Kanyakumari
21 | Aand B together can do a piece of work in 8 days. If A alone can do the same work in 12 days, then B alone
can do the same work in?
a)16 days | b)24 days | ©)20 days | d)28 days | b | 24days
22 | The average of first 10 even numbers is?
a)9 |b)18 |c)11 |d)22 | c \11
23 | The speed of a train is 90 kmph. What is the distance covered by itin 10 minutes?
a)12 Km | b)18 Km | ¢)25Km | d)15Km | d | 15Km
24 | HCF and LCM two numbers are 12 and 396 respectively. If one of the numbers is 36, then the other number
is?
a)54 | b)66 | c)246 | d)132 | d | 132
25 | A certain number when divided by 39 leaves a remainder 20, what is the remainder when the same number
is divided by 13?
a)l0 metres | b)20 metres | ©)50 metres | )70 metres | a | 10 metres
26 | The nature of problem addressed in social casework is:
a) Psycholog b) Psychoso c) Social d) Social b | Psychosocial
ical cial Aspect Diagnosis Problem
aspects problem S
27 | The association of schools of social work was registered in India in the year:
a) 1950 b) 1961 c) 1963 d) 1965 b | 1961
28 | Culture is man-made part of the environment who said this?

a) Kroeber b) Malinows c) Taylor d) None a | Kroeber
ki




29 | Mary Richmond'’s ‘Social Diagnosis’ can be considered as first book of:
a) Social b) Social c) Social d) none a | Social
Casework Group Action Casework
work
30 | The Elizabethan Poor Law was implemented in:
a) 1601 b) 1602 c) 1603 d) 1604 a | 1601
31 | The person-in-situation was coined by:
a) Mary b) Charles c) Sigmun d) Florence d | Florence
Richmond Cooley d Hollis Hollis
Freud
32 | Which of the following works on pleasure principle:
a) Id b) Ego c) Supere d) Allabove | a |Id
go
33 | Sigmund Freud divided the structure of personality into:
a) 2 b) 3 c) 4 d) 5 a |3
34 | Defence mechanism in psychoanalysis is used to protect individual from:
a) Depressio b) Anxiety c) Reality d) Pleasure b | Anxiety
n
35 | Tribals are:
1) Aboriginal people
2) Characterised by primitive culture
3) Racial group in a society
a) land 2 b) 1and3 c) 2and3 d) 1,2and 3 a |land?2
36 | Which of the following is not the base of community?
a) Equal b) Feeling of c) Same d) Same c | Same
Region communi politica living political
ty 1 style thoughts
though
ts
37 | One of the main objectives of social casework is to strengthen ................. Power in the client.
a) shyness b) self- c) creativi d) timidity b | self-
confidenc ty confidence
e
38 | First step in the process of problem solving in social work is:
a) assessme b) planning c) treatm d) terminati | a | assessment
nt ent on

39

‘Social casework: A problem-solving process’ is a book written by:




a) Grace b) HH c) Gordon d) Mary b | HH Perlman
Mathew Perlman Hamilt Richmon
on d
40 | The profession of social work is a helping activity based on:
1. Humanitarian philosophies
2. Scientific knowledge
3. Technical skills
4. Providing aggressive leadership
Choose correct answer from the code given below
a) 1,2and 3 b) 1and2 c) 1,3and d) 1,2,3 and a | 1,2and3
4 4
41 | Intake is succeeded by which of the following processes?
a) Evaluatio | b)Termination c) Study d) Diagnostic c | Study
n
42 | According to Perlman, how many types of diagnosis are generally there?
a) One b) Two c) Three d) Four c | three

43 | Understanding and putting back the same to the client in the counsellor’s own words, from
the perspectives of the counsellor is known as:

a) summaris b) paraphra c) echoin d) mirroring | b | paraphrasing
ing sing g

44 | Arrange the following in sequence

1. Diagnostic Summary

2. Home visit

3. Intake Interview

4. Referral

a) 43,21 b) 1,2,3,4 c) 3,142 d) 2,4,1,3 a (4321

45 | Client-worker relationship is essentially:
a) Personal b) Purposive c) Social d) Sympathe | b | Purposive
tic
46 | ‘Evaluation of clients’ presents problem the way (s)he is experiencing :

a) Etiologica b) Clinical c) Dynam d) Social ¢ | Dynamic
1 Diagnosis ic Diagnosis Diagnosis
Diagnosis Diagno

Sis
47 | Group therapy helps patients in:

a) Physical, b) Only c) Both d) Neither a | Physical,
mental social (a) and (a) nor mental and
and adjustme (b) (b) emotional
emotional nt adjustment

adjustme




nt

48 | Leadership using .......... model are very successful in the era of globalisation:
a) submissiv b) authoritat c) suppor d) responsiv | c | supportive
e ive tive e
49 | The pattern of group interaction when group members take turn in talking is known as:
a) maypole b) round c) hot d) free b | round robin
robin seat floating
50 | The ‘Task Centered Social Work’ has been developed by:
a) Reid and b) Canard c) Glenn d) Waldo a | Reid and
Einstein Einstein
51 | Put following stages given by Sigmund Freud in correct order:
a) Oral, b) Oral, Latency, | c) Oral, Anal, d) Oral, c | Oral, Anal,
Phallic, Anal, | Phallic, Anal, Phallic, Genital, Phallic,
Latency, Genital Latency, Phallic, Latency,
Genital Genital Latency, Genital
Anal
52 | Non-conformity to a set of norms is known as:
a) Crime b) Habit c) Deviance d) Juvenile c | Deviance
Delinquency
53 | Allocation of roles and status to members in a group is known as:
a) Cohesion b) Control c) d) d | Structuring
Confrontation | Structuring
54 | Under Juvenile Justice Act, the observation home is mainly meant for:
(i) Thrown away children (ii) Children in conflict with law
(iii) Run away children (iv) Children whose cases are pending
a) (i), (ii) and | b) (ii) and (iv) c) (iii) and (iv) | d) (i) and b | (ii) and (iv)
(iii) only only only (iii) only only
55 | Which among the following authorities is empowered to grant probation to an
offender/s?
a) Police b) Prosecution c) Prison d) Court of d | Court of Law
Officer Authority Law
56 is termed as the soul of social casework.
a) b) Client c) Case d) Setting a | Relationship
Relationship worker
57 | When you are feeling with another person, it implies:
a) Sympathy | b) Helping c) Empathy d) Inquiring | c | Empathy




58

is said to have taken place, when the client reacts inappropriately, with
excessive or distorted feelings towards the caseworker.

a) b) Counter- c) Excessive d) Excessive | b | Counter-
Transference | Transference Anger Love Transference
59 | What are the pre -requisites for application of Principle of Individualization?
a) Knowledge | b) Moving with | c) Ability to d) The open | b | Moving with
of human the client’s pace | enter into and closed the client’s
behaviour feelings of mind pace
people
60 | The secret is the information which, if revealed would defame, injure or

unjustly sadden the person.

a) Natural

b) Entrusted

c) Promised

d) Sexual

C

Promised

61

The new definition of social work approved by the IASSW on 10 July 2014 inserts
as one of the central points of social work.

a) respect for | b) lobbying for c) dignity d) integrity | a | respect for
diversities professionalism diversities
62 | When social workers encounter clients in public spaces, which tool can be attributed
for it:
a) Focused b) Walk and c) Dialectic d) Cognitive | b | Walk and
conversation | Talk Therapy Behaviour behavioural Talk Therapy
therapy Therapy therapy
63 | An unacknowledged barrier to advancement in a profession, especially affecting
women and members of vulnerable groups, is:
a) glass b) glass c) glass d) glass a | glass ceiling
ceiling breaking cracking cutting

64 | A significant cultural, political, or social change arising from the actions or influence
of young people is termed as:
a) social b) youth quake | c) youth d) Youth b | youth quake
churning spring time
65 | International women'’s day is observed on:
a) 7 March b) 8 March c) 9 April d) 10 April b | 8 March
66 | Social Welfare Administration comes under
a) Direct method | b) Indirect c) Not coming | d) All the b | Indirect
of social work method of under any above method of
social work method social work
67 | Distributive Justice is a combination of
a)Right and b)Constitutional | c)Social and d)Community | a | Rights and
duties remedies and community and Society Duties
social system justice




68 | In the abbreviation POSDCORB-CO stands for?
a)Communication | b)Coordination | c) Counselling | d)Corporation | b | Coordination
69 | The concept of “felt needs” is related to:
a)Social Group b)Social Case c)Social Action | d)Community | d | Community
Work Work Organization Organization
70 | Theme of International Day of happiness 2022 is:
a) Build Back b) Build Back c) Global d) Growth and | a | Build Back
Happier Better Wellness Happiness Happier
71 | Social Capital signifies:
a) Trust and b) Rotational c) labour d) Fiscal a | Trustand
Cooperation Lending Capital Prudence Cooperation
72 | The division of society into upper and lower order is known as:
a) community b) caste c) d) c | stratification
stratification differentiation
73 | A number of people who share common characteristics are known as:
a) association b) categories c) aggregates d) groups b | categories
74 | Emotional warmth and spontaneity exist in which group?
a) Social b) Primary c) Secondary d) Special b | Primary
75 | Name the people who act in consonance with the norms?
a) Deviants b) Followers c) Crowd d) Conformists | d | Conformists
76 | The book ‘Sapiens’ is authored by:
a) Abraham b) Martin c) Yuval Nova | d) Stephen ¢ | Yuval Nova
Lincoln Luther King Jr. Harari Hawking Harari
77 | Which among the following is a desired virtue in social work profession?
a) sympathy b) empathy c) charity d) power b | empathy
78 | According to preamble of Constitution, India is not a:
a) democracy b)republic c) monarchy d) sovereign ¢ | monarchy
79 | Which of the following institutions is more likely to provide an answer to existential

question?

a) Family

b) Religion

c) Economy

d) State

Religion




80 | Which of the following is not true with respect to ‘caste’?
a) The b) Community c) Itis d) Members of Community
membership is based as achievement- | a caste group based as
hereditary. achieved status. | oriented practises achieved
interest group. | endogamy. status.

81 | IECstandsfor ___. | AsQ No 81 is repeated, answer will be considered for both d and ¢ |
a) Information b) Information c) Information d) d | Information
Education Educational Educational Information Education
Contents Competition Corporation Education Communicati

Communicati on
on

81 | Whatis wastewater?

a) Water after it’s | b) Poor water c) Both (aandb) | d) Saline ¢ | Both (aand
been used in the of the above Water b) of the
toilet, tub or sink above

82 | Sanitation is the means of promoting health through the prevention of human contact
with the hazards of waste.
a)Better b)Hygiene c) Proper d) Perfect b | Hygiene

83 | PMAY is related to .

a) Housing for all | b) Rural Health c) Rural d) Urban a | Housing for
Care livelihood for all | Health Care all

84 | Health is defined by the WHO as the state of complete physical, mental and social well-being,

which is marked not only by the or infirmity.
a) absence of b) absence of c) absence d) absen | d | absence of
medicine virus of germs ce of disease
disea
se

85 | The Forest Man of India is:

a) Jadav Payeng b) Deep Sharma a) Shanti d) Sonu a | Jadav Payeng
Kumar Boruah
86 | Cleanest village in India:




a) Mawsynra b) Mawlynno c) Rynsyram d) Asim Mawlynnong
m ng para
m
87 | How long approximately should you wash your hands as COVID appropriate behaviour?
a) 20 b) 25 c) 15 d) 17 20 seconds
seconds seconds seconds seconds
88 | Which is a non-communicable disease?
a. Cancer b. Covid19 c. Diarrhoea d. Cold Cancer
89 | NHM state for:
a. National Health | b. New Health c. Natural Health | d. New National
Mission Mission Mission Health Health
Missionary Mission
90 | Insulin is produced in the:
a. Gall bladder b. Appendix c. Thyroid d. Pancreases Pancreases
91 is a water borne disease.
a. Typhoid b. Scabies c. Covid19 d. Trachoma Typhoid
92 | A network of interconnected sewers in the area, district or town is known as:
a. Water supply b. Drainage c. Sewerage d. Treatment Sewerage
system system plant
93
1 mark will
be added
94 | SDG stands for:
a. Sustainable b. Sustainable c. Southern d. Sustainable
Development Development Development Sustainable Development
Group Goals Group Development Goals
Growth

95

Where most of the earth’s freshwater is located?




a. In lakes

b. In oceans c.Inicecapsand | d.Indams in icecaps
glaciers and glaciers
96 | What are the elements that make up water?
a. Calcium and b. Hydrogen and c. Hydrogen and | d. Hydrogen Hydrogen
oxygen sodium oxygen and nitrate and oxygen
97 | PHC stands for:
a. Primary b. Primary Heal c. People Health d. Primary Primary
Helpline Centre Centre Centre Health Health
Centre Centre
98 | The most important requirement for the people of a flood-hit area is:
a. small pox b. COVID 19 c. inoculation d. BCG inoculation
vaccination vaccination against cholera injection. against
cholera
99 | What is the importance of roughage in our diet?
a. It helps in b. It is necessary c. It prevents d. It helps It helps in
retaining water in | for normal food wastage our retaining
the body functioning of the eyesight. water in the
liver body
100 | The sweetest sugar is:
a. Sucrose b. glucose c. fructose d. lactose fructose




